


THE-1 : TEA TS

() —

1. (i) 65,32,917 = Y53 =@ =i &SR Al | Falel
(i) 48,93,025 = TSATNE g foRMd TR T=<ig|
(iii) 4,78,21,910 = ¥R U ILTW NG SoFhIH IR 1 G T4
(iv) 6,38,70,029 = B: HUS ST TG TR B9 S|
(v) 7,00,00,251 = Hid U &1 G g
(vi) 1,95,32,005 = U g fr=amd org s<i9 ek urel
(vii) 34,57,02,825 = =i il EeH o &l BN 313§l T==4|
(viii) 21,57,05,110 =3h1g S HeH g I B Teh 9 24|
2. (i) Ted SR A TS = 90,990
(i) BTG R =Ted SR <1 9 378 = 7,40,208
(i) foRT oM@ e 89K =) 6 Sehdielid = 53,24,441
(iv) 373 HE | TR TH = 8,00,07,001
3. (i) 740215 ¥ 4 &1 ®IEE T =4 x 10,000 = 40,000
(i) 1256301 H 6 1 TIFE AH = 6x 1,000 = 6,000
(i) 2035612 ® 5 1 TIFEE |F = 5x 1,000 = 5,000
4. (i) 72,950,034 = werR fuferms =t € T=E R =ifal
(i) 357,602,117 = o & TwmEq fufqaq ©: @ € &R T @
el
(iii) 85,947,321 = fireaeht fuferam =i @t Harferd gom & &t s 14|
(iv) 1,150,003,214 = U fafera we @ v fufemm €9 gem &
ot el
5. (i) oo fHfer@A et TR §7R = 90,080,070
(i) T fHferad wage = 70,000,77
(iii) @ | =R fufemm & O 9@ g9R T9Eh = 304,307,089
(iv) T 9t =RE fufeagq |t g 998 = 111,009,065
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6.

10.

11.

(i) 895032115
=80,00,00,000 + 9,00,00,000 + 50,00,000+ 0+ 30,000 + 2,000
+100+ 10+ 5.

(i) 4932105680

= 4,00,00,000 + 90,00,00,000 + 3,00,00,000 + 20,00,000 +

1,00,000 + 0 + 5,000 + 600 + 80 + 0.
(iii) 95990998

= 90,00,000 + 50,00,000 + 9,00,000 + 90,000 + 0 + 900 + 90

+ 8
(iv) 99099099

=90,00,000 +90,00,000 + 0 + 90,000 +9,000 + 0+ 90 +9.
T 10539751 & &% =1,0,5,3,9, 7, 5, 1
=1 ofenl | o Tad o W =9,75,53,110
31d; 9,75,53,110 WA 1053751 o fehi W o1 Ho Il 3MS-Fhi
e B
327400298 ¥ 7 @1 TR A

7x 10,00,000 = 70,00,000
F1d: T 327400298 H 7 w1 TR WE 70,00,000
476294630

L = T 79 = 6x 100 =600
I TR AE = 6% 10,00,000 = 60,00,000

IR = 60,00,000 — 600

=59,99,400
3 T 476294630 H 6 F T A 1 3N 59,99,400 2
9532544674
W TERE T = 5% 1,00,000 = 5,00,000
T TIFER A = 5% 10,00,00,000 = 50,00,00,000
TR = 50,00,00,000— 5,00,000

=49,95,00,000
4 T 9532544674 B 5 % T W 1 3= 49,95,00,000 B
(F) S 1, 4 3R 9 F T 1l d TR Feam
=149, 194, 419, 1491, 914 & 941.
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(@) 3l 4,0 R 3 Y o Gl Trpfaes deamn
=3, 4, 34, 43, 30, 40, 403, 430, 304 & 340

12. 3H16,9,5 3 | § fiete ot Toll o€l 9I) fehig T = 9651
T SR 6,9, 5 AN 1§ THewt s Ford DI =R ShF e
=1569

13. 3ehi 2,3,4,7 3N 1§ Tt o T o2t §E& = 74321
T 3R 2, 3,4, 7 AN 1§ T o Tl BEl e = 12347
A W =74,321-12,347

=61974

14. I f=1-f=1 37l © fireTent ot 9o 1€l 9T 37 §&T1 = 99,987

a9 = =1 ofenl B fietss s ol SISl Ui 3™ &1 =10,002

1. (i) 599 B quf @& =0
(i) To 9 Bt qui HE = g9y 7|
(iii) To9 B WHfdH T =1
(iv) Tod 9! WFfas & = G T
2. (i) 70 = gadt & =70 - 1=69.
(i) 1000 =t Feferdl E@A =1,000 — 1 =999
(iii) 85,000 S e FEA = 85,000 — 1 = 84,999
(iv) 10,00,000 =t Feferdt & =10,00,000 — 1=9,99,999
3. (i) 42 1 STIadl H&A =42+ 1=43
(ii) 309 =t 3TFa H&A =309+ 1=310
(iii) 9,999 @l A FHE&AT = 9999 + 1=10000
(iv) 26,899 @I ATl & = 26,899 + 1=26,900
4. (i) 101, 112,211, 357, 158, 299
FEal H = 101 < 112 < 158 < 211 < 299 < 357.
Al A = 357 <299 <211 < 158 < 112 > 101.
(i) 105, 501, 27, 357, 1028, 3895
FEdl s = 27 < 105 < 357 < 501 < 1028 < 3895.
A A = 3895 > 1028 > 501 > 357 > 105 > 27.
6. TEAT 105376 % 3THI 1,0,5,3,7 T 6 9 Heta o Ted Diet G&
=103567.
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N

(i) 321 >312 (ii) 1011 > 1010
(iii) 3289 < 3298 (iv) 17925 < 19725
8. -+ 991-91=900
o7d: W& 91 9 991 & Sitel FeA 899 ui T B

(i) &, @it Frepfash Eed qui §ed

(i) =, Teft gof Tt srHfaer Tt T 7
10. (i) 47 & 37T 99 Srepfas G@AT = 48,49 9 50 T

(i) 195 = TR A Sepfass T = 196, 197 9 198 €1
(iii) 663 ! ST A Wl HEAT = 664, 665 T 666 T
(iv) 1011 ! 37Tl o9 Srepfaes @@ =1012,1013 9 1014 &

@ =

1. () T20 FaA =321 &t g
(ii) AT = F 10°C FH 1 = AHH T4 & 10°C T T AT
(iii) 5 o M aGT =5 o T wre
(iv) T95-aa & HW 1100 HeX = Gg5-aa & =g 1100 eI
2. (i) 21 ST B =+ 21
(i) T 6000 1 &M =+ T 6000
(iii) fedis ¥ 7°C %7 =-7°C
(iv) ¥ 3500 = B BAT =— T 3500
(v) T 725 feh1er =— % 725
(vi) T9E-Td & A 2800 X =—2800
3. (i) ST (ii) B (iii) TS (iv) TRA, BT (v) FLT (vi) < (vii)
ST (viii) < (ix) <
4. (i) 1 2 3

ya
<

°

S5 4 3 2 a1 o 1 2 °
A —5 9 3 Al T -2 7
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o »n

N

°

10.

(i) VA
- -5 -4 -3 -2 —1 0 1 2
3@ 2 9 5 %° 9@ -3 B

v

(iii) 5 4 3 2 1
< + + + + } ! + + + >
-6 -5 —4 -3 -2 -1 0 1 2
ad: 0 ¥ 5 & G -5 7l
(iv) 1 2 3
< CNTNTYY
0 1 2 3 4 5 6 7 8

3@ 5 9 3 e ge 8 B

(i) 9>-10 (i) —=57>-71 (i) 2>-4  (iv) 20>-30
(i) —99<9 (i) —25<-12
(iii) 1925 <1952 (iv) —1280 <288

(i) —5<-3<-1<1<2<3<4<7<10

(i) —10<-7<—-6<1<2<4<5<7

(1) 8>6>0>-2>-4>-6>-8

(i) 6>5>3>1>0>-1>-4

(i) -3 o1 U 91 =|-3|=3 (i) —1 & F0& 79 = |-1|=1
(iii) —10 T FU& 7H = |-10|=10
(iv) 5 =1 fRUer o9 =|5]|=5 (v) 7 1 U1 o =|7|=7
(vi) 0 =1 fRUe 91 =|0(=0

() |-3-4|=|-3|+|4|=3+4=7

A

0 1 2 3 4 5 6 7 8
(i) 3+|-3|=3+3=6

v

<
<

v

7'1 0 1 2 3 4 5 6
(iii) |-2|+[3] =2+3 =5

N
v



b

(iv) |5-4|=|5|-|4|=5-4 =1

N
v

(i) 3T (ii) TA (iii) A (iv) A (v) TA
(i) —1 1 Tt quiieh =—1+1=0

(i) 99 =T T Uik =99+ 1=100

(iif) —200 T e qulieh =—200+1=—199
(iv) 0 T TLart quiieh = 0+1=1

(i) 1 1 AT ST qorie = -1

(ii) 72 @1 AT ST IO = —72

(i) 155 T AT FfTA™ qorfh = —155

(iv) —136 1 IS Ffaam qolieh =136

(v) 0 %1 ArTeHe SfTe™ qurid =0

® T~

N
v

v

S 6+(-3)=6-3=3
K8 7 6 =5 _A 3 3 1 0 1

“4

S (-9)+5=-9+5=-4



Ve T,
= 1 3 i | «

(

M

3

L () (D)= —4-1=-5
V)

M

L

A

e

S (=D+3=-7+3=-4
vii)

M

yr

o (=6)+(~2)=—6-2=—8

(viii)

5.

&=
b

yr

[P

\-\_ti___j 4 I |
o -

S (=END+5=-T+5=-2
(1) 189+(-137)=189-137=52
(i) (—444)+221=-444+221=-223

(iii) (=3421)+ (~1786) =—3421-1786 =—5207
(iv) 231+(-112)=231-112=119

(v) (=275)+329=-275+329="54

(vi) 4289+ (—4289) =4289-4289=0

6.

TfoTa-6

(i) 145+234+(=314) = (145+234)+ (-314) =379-314 =65
(i) 32+ (=42) + (=54)+ 273
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=32-42-54+273
=305-96=209
(iii) (=25)+0+(~1)+32=-25+0-1+32
=(=25-1)+32
=-26+32=6
(iv) (=275)+193+201 =(=275)+ (193+201)
=(-275)+ 394
=394-275=119

(i) 0-10=-10 (i) 58—(—24)=58+24=82
(iii) 0-35=-35
(iv) 314—(-314)=314+314=628
(v) 418—128=290 (vi) =324 -24=-348
(i) —192-0=-192
(i) 0—(=172)=+172
(iii) 3225—(—3225)=3225+3225=6450
(iv) =324 —(-1526) =—324+1526 =1202
(v) 1220-(—3248) =1220+ 3248 =4468
(i) 15+7-(-8)=15+7+8=15+15=30
(i) 47—(-23)-70=47+23-70=70-70=0
(iii) —115+(-220)-52=-115-220-52
=—(115+220+52)=—-387
(iv) =22—(=26)}+ {~21—-(=70)} =(=22+26)+(-21+70)
=4+4+49=53
(V) {59—(=6)}+ {13—(=17)} =(59+6)+ (13+17)
=65+30=95
() 14=(=7)+9+(-8)—(11)+5-2=14+7+9-8-11+5-2
=(14+7+9+5)-11-8-2
=35-21=14
(i) 2+ (=30)+15-12+(-18)—(=3) =2+15-30-12-18+3
=(2+15+3)-30-12-18
=20-60=-40
9 -6



(iii) 1=2+6—(=5)+(—=4)+3—(=12)+(-1)+27
=1-246+5-4+3+12-1+27
=(14+6+5+3+12427)-2-4-1=54—-7=47

5. TH T qUNE @, b T T, WA g =—325

. a+b=1925= -325+b=1925=> b =1925+325= b =2250
6. 1262—(427+563)=1262-990 =272
7. 1250+ (=3025)—(-99)=1250-3025+ 99 = 1349-3025=1676
8. 6677—{4444+(-2022)} = 6677 — {4444 —2022}

=6677—2422 =4255

9. a*b=a—(-b)+1 (1)

(i) ~3%2=3—(-2)+1=3+2+1=6 (I (1) 2)

(i) - (=D*2=(=1)—(-2)+1=—1+2+1=2

(iii) (-4)*4=(-4)-(-4)+1=—4+4+1=1

10. x*y=x+(-y)-2 ..(1)
(i) 3*%(-4)=3+{(—4)}-2=3+4-2=7-2=5

(i) (-3)*4=-3+(-4)-2=-3-4-2=-9

(iii) (-3)*(=1)==3+{~(-1)}-2=-3+1-2=-5+1=—4

(iv) (=3)*(10)=-3+(-10)-2=-3-10-2=-15

1. () 11x(-6)=-66 (i) (-16)x5=-80
(iii) (-8)x(=5)x0=0 (iv) (-32)x (-5)=+160
(v) (4)x0x(-21)=0
(vi) (-12)x (-4)x(—13) =(-12)x[-4x—13]
=(-12)x52=-624
(vil) (=9)x5x(=3)x (=6) =[-9%x 5] x[-3x —6]
=(-45)x18=-(45%x18) =-810
(viil) (=3)x(=2)x5 =[(-3)x(-2)]x5=[6]x5=30
(ix) 3)x (—4)x (-6)=[3x (-4)]x (-6)=(-12)x (-6)=+T72
2. (i) (-36)x 72+ (=36)x (28) =(—36)[72+ 28]
=(-36)x[100]=-3600
(i) 43x(=33)+43x(=17)=43x[(-33)+(-17)]
=43 x[-50]=-2150
TfUTd-6 10



(i) (=9)x 6+ (=9)x 4 =(=9)[6+4] =—9x 10=—90
(iv) (=15)x (=14)+ (=15)x (=6) = (=15)[(~14)+ (=6)]

=(=15)[-20]=—15x —20 =300

(v) 8x(=12)+7x (=12) =(=12)[8+7]

=(-12)x[15]=-12x15 =—180
(Vi) 30 (=22)+30x 14 =30x[-22+14] =30x (=8) =—240
(i) (=8)x (10—5-43+98) = (-8)x (60) =—480
(i) 525x 75-380% 75 =75x (525—380) =75 145=10875
(iii) (=36)x 72+ (=36)x 72 =—2592—-2592 =—5184
(iv) 4532x 99— (—4532)=4532x 99 + 4532

=4532(99 + 1)=4532x 100 =453
(v) 1569x 887—569 x 887 = 887(1569—569)

=887 (1000) = 887000

(i) (=190)x (=55)+ (=190)x (—45) = (—=190)[=55+ (=45)]

= (~190)[-55—45]
= (=190)[~100]
=—190x —100 = 19000

(i) T (i) I (iii) = (iv) TA

(i) 490+x=-35
490 _ 35

X
490

—— =X
=35
—14=x
x=—14
(i) 296+x=1
296
=
296=x
x =296

1

11

(i) x+(-12)=0
X
-12

x=—-12x0

x=0
c x=0
(iv) (-225)+(-15)=x
—225
— =X
-15
15=x
x=15

TfoTa-6



v) x+-12=-12 (vi) =360+ —1=x

B P —360 _
-12 =
x=—12x-12 360 =x
x=144 x=360
x=144
2. (i) 24+ (4)—21——6 (ii) (—42)+7=%42=—6
(i) (—-364)+ (- 14)_ﬂ_26 (iv) (—360)+15=ﬂ:—z4
~14 15
(V) 1344+ (-12) =3 _ 112 (vi) 648+ (—18) =¥ __36
~12 18
(vii) 0+ (- 7)_%: (viii) (—56)+ (- 7)_—7
3. () 63+(—7)=%=—9 (i) 168 = (12)—3182 ~14
S ~Tx—9=63 S —12x-14 =168
(i) (—475)+(— 25)_ﬂ_19 (iv) (—84)+(—14):;84:6
-25 —14
S : —25x 19=-475 S : (—14)x 6=—84

v) 0+(—4):_—(2:0

S 0x (—4)=0
4. () T (i) WA (i) A (iv) FIH (v) TA (vi) TA

1. (i) 13-(8x2)+3=13-16+3 =(13+3)-16 =16-16=0
(i) 5x9-3x3=45-9=36

(iii) 5—(7—8+4)=5—(7—i]:5—(7—2):5—5:0
@(iv) (=17)+8+(7-3)=(-17)+8+4 =(-17)+2=-17+2=-15
(V) (=25)(-2)+3(-10)+15+5=(-25)(-2)+3(-10)+3
=50-30+3=53-30=23
TfoTa-6 12



2.

3.

(i) 15+ (=5)x (=2)x 3=15+10x 3=15+30=45
(i) 32-3 % 6-14=32-3x6-14 =32-18-14=14-14 =0
(ii) 30—5%3 1 2+ (19-3)+ 8 =30-5x 3 1 2+16+ 8

=30-5x3 1 2+2=30-5x (3x2)+2
=30-5%x6+2=30-30+2=2

(iii) 2[10—{15-5(16—4 %1 4)}] =2[10—{15-5(16—4x 4)}]

=2[10—{15-5(16-16)}]
=2[10—{15-5% 0}]
=2[10-{15-0}]
=2[10-15]=2[-5]
=2x—-5=-10

(iv) 9— {21+ 2(=2 I 3)} =9— 21+ 2(—2x 3)} =9— {21+ 2(=6)}

=9-{21-12=9-{9}=9-9=0
(v) 18x[56—{7x 8+ (13-2x 5)}] =18x[56—{7x 8+ (13-10)}]
= 18%[56—{56+3}]
=18x[56—59]
=18x(-3) =—54
() 1-[1-{1-(1-1)} =1-[1-{1-(0)}]
=1-[1-{I}] =1-[1-1] =1-0=1
(ii) —3+[2—{=5—(8=3 I 3)}] =-3+[2—{-5—(8-3x3)}]
=—3+[2-{-5-(8-9)}]
=-3+[2-{-5-(-)}]
=—3+[2-{5+1}]
=—3+[2—(-4)] =—3+[2+4]
=—3+(6)=-3+6=3

(iii) 1-[2+2-2+2-(2+2-4)}]=1-[2+2-2+2-0}]

= 1[4 {4}]
=1-[4-4]=1-[0] =1

(iv) (20+4)-[3-102—(5+3-4+2)}]

=(20+4)—[3-1{2—(8-2)}]
=5-[3-102-6F5-[3-1{-4}] =5-[3+4]=5-T=—

13 TfoTa-6



(V) 5+3-[-8+{4—(-3-24+4)}] =5+3-[-8+{4—(-5+4)}]
=8-[-8+{4~(-1)}]
=8—-[-8+{4+1}]
=8—[-8+5]
=8—-[-3]=8+3=11

(vi) 1-(3+2—-{16+2—-(24+4-3+7-2)})

=1-(3+2-{8—(6-3+7-2)})
=1-(5-{8-(13-5)})
=1-(5-{8-8)=1-(5-0)=1-5=-4
(vil) 217-[23-{29—-(29-(29-5-3)}]
=217-[23-{29-(29-(29-2)}]
=217-[23-{29-(29-27)}]
=217-[23-{29-2}]
=217-[23-27] =217-(-4)=217+4 =221
(viil) (=3)+(=8)+(-4)=2x(=2) =(3)+[(-8) + (-4)]-2x (-2)
=(-3)+2-2x(-2)
=(-3)+2+4=-3+6=3

(ix) 89—[15+{26—(18—-15)}] =89—[15+{26—-3}]

=89-[15+23] =89-38=51

1. (i) 9°: 9 ¥R, 2 — =
(i) (=3): (-3) > MR, 5 — =M@
(i) (-12)*: (~12)—> 3MER, —4 — =M
(iv) (125)° : 125 — oTHR, 3 — ®a
2. (i) 5x5x5x5x5x5x5=5"
(i) 3x3x3=3
(iii) (~4)x (~4)x (-4)x (-4) = (-4)*
(iv) (=9)x (=9)x (=9)x (=9)x (-9) x (-9) = (-9)
3. (1) D7 ==Dx[(=D*]" =(=D[1]" =(-Dx1=~1
(i) (=D =C=Dx[D’]" =D =(-Dx1=-1
(iii) (=2)" ==2x—2x 2x2x-2x-2x-2=—-128

TfoTa-6 14



) -2+ (=)

_ —2x-2x-2
-2
=-2x-2=4

(V) 1200:1
(vi) 28 x3% =2x2x2x3x3=8x9=72

(vii) (=2)° x (=3)" x (=1)" =(=8)x (81)x (~1) =648
(i) 3°x2* =(3x3x3)x(2x2x2x2) =27x16=432

(ii) (=3)° % (~4)* =(-3x-3x-3)x (-4x—4)

=-27x16=-432
... 6 . 4 —3x=3x-3x-3x-3x-3
(i) (-3)° +(-3)* ==
=-3x-3
=9
(iv) (=1)* x (=10)* =(=1x=Ix-1)x (=10x -10)
=-1x100=-100
(V) (=12)* x(=3)’ =(=12x=12)x (=3 x =3 x =3)
=144 x =27
=-3888

(vi) (=2)* x(=3)* x (=1) =16x 9x —1=—144
(i) 5 =5x5x5=125

(i) (—4)’ =—4x—4x-4=—64

(ili) 7° =7x7x7=343

(iv) (15)° =15x15x15=3375

(v) (100)* =100x 100 100 =1000000

i) (=100)* = (=100)x (~=100)x (=100)=—1000000

() (=D =—1x-Ix—-1x-1=1
(i) (D' =Ix1x1Ix1=1

(iii) (2)* =2x2x2x2=16

(iv) (-3)" =-3x-3x-3x-3=81
(V) (4) =4x4x4x4=256

15
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7. (i) LHS. =(-2)’ x(-2)°
=(2x-2x-2)x(-2x-2)

=—8x4=-32
RHS. =(=2) ==2x-2x-2x-2x-2=-32
-~ LHS.=RHS.
(i) LHS. = 3%+ 32 2 3X3%3x3x3
3x3
_2 oy
9

RH.S. =3° =3x3x3=27
- LHS.=RHS.
(iii) L.H.S. =10* x10*
=(10x10)x (10x10x 10x 10)
=(100) x (10000)
=1000000
R.H.S. =10° =10x 10x 10x 10x 10x 10 = 1000000
(iv) LH.S. =21* -18*
=21x21x21x21-18x18x 18x 18
=194481-104976 = 89505
RH.S. =3*=3x3x3x3=81
-~ LHS.#RHS.
(v) LHS. =3 +4> =9+16=25
RHS.=5"=5x5=25
.. LHS.=RHS.
(vi) LH.S. =(-5)" = (-5)°
~78125—(~125)
—78125+125 =—78000
RH.S. =(=5)* ==5x -5x -5x -5=625

L.H.S.#RH.S.
8. u¥H 10 Whfas = 2 1,2, 3,4,5,6,7,8,9, 10
A
P =1xIx1=1 28 =2x2x2=8 3 =3x3x3=27
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43 =4x4x4=64 53 =5x5%x5=125
6’ =6x6x6=216
7P =TxTx7=343 8 =8x8x8=512
9> =9x9x9=729
10° =10x 10x 10=1000

9. HeH 10 epfaeh @ © 1,2, 3, ... 10

3

I’ =1x1=1 22 =2x2=4 32 =3x3=9
47 =4x4=16 5 =5x5=25 6> =36

7> =49 8% =64 9° =81

10> =100

1a: 109@@@1@(%@%%@%%%@ 1,4,9,6,5,6,9,
4,190 %
10. (i) |F (—4) S x =4 T AF (-64) T
s (—4) =—64
= (—4) =(-4)’
= x=3
3T (—4) H 3 T W TH (—64) A
(ii) T (—2) St x =G W 7H 16 MM
S (<2) =16
= (=2) =(-2)* = x=4
3 (—2) I 4 T R I 16 S

SO

1. (i) 493 +327 =820
(i) 327 + 493 = 820
I SHATSHA U I T el 2|
2. (i) (4319 +494) + 839 = 4813 + 839 = 5652
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(i) 4319 + (494 + 839) = 4319 + 1333 = 5652
T HrE=d U7 R GeAfd e 2
3. (i) 1873 + 500 + 1127 = (1873 + 500) + 1127
=2373+1127=3500
(i) 2147+1124+953+ 776 =(2147+1124)+ (953+ 776)

=3271+1729
=5000
4. (i) 562+183=[] + 562 (ii) 1000+0=[]
745=[]+ 562 1000=[]
745562 =] ~[]=1000
183=[]
~[]=183
(iii) []+365=365 (iv) 34+ (45+67) = (34 +45)
[]=365-365 34+(112)=79+[]
~[]=0 146=79+[]
146-79=[]
67=[]
=67

5. (i) 1125+275=1400
1125=1400— 275 3R 275=1400— 1125
(ii) 9999+ 1=10,000
9999 =10,000—1 3 1=10,000—9999
(iii) 784 +216=1000
784 =1000— 216 R 216=1000— 784
6. (i) 34596— 21764 =12832
S 21764 + 12832 = 34596
(ii) 565656— 474747 =90909
S 474747 + 90909 = 565656
(iii) 1700010—987456 = 712554
S 987456+ 712554 =1700010
7. () 5132-[]=4273 (i) 10,123—[]=6488
5132—4273 =[] 10,123 - 6488 =[]
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859=[] 3635=[]

~[]=859 ~[1=3635
(iii) 152378—[]=95894
15237895894 =[]

56484 =[]
~[]=56484
8. () GIsmM3 () [Q2m4 5 (@) 43 61
1662 +2 563 - 225
425 1 4613 1942

1. (i) 4 x215x5=215x (4 x 5) =215 x 20 = 4300
(ii) 8 x 283 x 125 =283 x (8x125) = 283 x 1000 = 283000
(iii) 75 x 8 x 2 x 25 = (75 x 8 ) x (2 x 25) = 600 x 50 = 30000
2. (i) 462 x 999 + 462 = 462 x (999 + 1) = 462 x 1000 = 462000
(ii) 385 x 6 + 385 x 4 = 385 x (6 + 4) = 385 x 10 =3850
(iii) 15625 x 15625 — 15625 x 5625 = 15625 (15625-5625)
= 15625 x (10000)

= 156250000
(iv) 13476 x 93 + 7 x 13476 = 13476 (93+7)
= 13476 x 100
= 1347600
3. (i) 3668 x 1 = 3668 (ii) 348 x 667= 667 x 348
(iii) 0 x0=0 (iv) 1x1=1
(v) 473 x0=0 (vi) 64 x 36 x 25 =25 x 36 x 64
(vii) 57 x48=57x40+57 x 8§
(viii) 33 x 96 =33 x 100 — 33 x 4
(ix) 346+ 1 =346 (x) 0+523=0
(xi) 465 +465=1 (xii) 0+ 1=0
4. (i) 24 x (8x4) = (24 x8)x 4 [
(i) 30~ 15=15+30 [37]
(i) 20+ (4+5)=20+4+20+5 [&]
(iv) 30+ 6)x5=30x5+6x5 ]
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(V) 24+(12+3)=(24+12)+3 [37]
(vi) (25-5)x5=25%4 [37]
5. (i) 754 x 106 =754 x (100+6) (ferawor w@)
=754 x 100 + 754 x 6
= 75400 + 4524
= 79924
(i) 647 x 94 = 647 x (100 —6)( faa¥or W&)
=647 x 100 — 647 x 6
= 64700 — 3882
= 60818
(iii) 995 x 385 = (1000-5) x 385 (forawor w@)
= 1000 x 385 — 5 x 385
= 385000 — 1925 = 383075
6. (i) 65x54=(60+5)x54=60x54+5x54
= 3240 + 270 = 3510
(i) 267 x 364 = 267 x (300 + 64) =267 x 300 + 267 x 64
= 80100 + 267 x (60 +4)
=80100+267 x 60 +267 x 4
= 80100 + 16020 +1068
=97188
(ili) 637 x 852 = 637 x (800 +52)
=637 x 800 + 637 x 52
= 509600 + 637 x (50+2)
=509600 + 637x 50+ 637x 2
=509600 + 31850 + 1274 = 542724

7. TER TS 43THET T = 9999
TEY TS 33THT T =999
TUFHA = 9999 x 999
=9999 x (1000—1)
=9999 x 1000 — 9999
=9999000 — 9999
=9989001

TfoTa-6 20



8. 1 791 & g =% 675
1 %l =1 g1 = T 325
125 HSi &1 g =125x T 675 =% 84375
125 & 1 g = 125x T 325=3 40625
125 HSH + 125 ST &1 g qoa
=T 84375 + ¥ 40625

=% 125000
9. (i) 9x6=54
= 54:9=6 54+6=9
(i) 72x 10="720
720+ 72=10; 720+ 10="72

(iii) 250x 8=2000
2000+ 250=8 2000+ 8=250

10. (i) 23456+ 96
96)23456 (244 TRT WIS = 96, TT = 23456

‘% ATRET = 244, ST = 32
—3841 e : W = AN x AR + A%
416 B
34 =96x 244 + 32
32 —3m =23424 + 32 =23456

(ii) 53596+ 326 .
326)53596 (164 &1 W9 =53596

326l qeTh =326

20991 TThRE =164, ATHA =132
—% ST : 959 = 96T x %A + A%
1304 =326x 164 + 132

30 — 3 = 53464 + 132 = 53596
(i) 88988~ 88
I HIWE, 96 (i) T (i) T 7@l
21 -6



11. 4-3f1 Fa8 BRI EH@T =1000 75)1000(13
75 | qofeen fawfsa e & for, &9 1000 175 "_75

Y 9T A1 gl 250
<Ife 25 99 o= €, o 75 W qoiaen fawfe g 225
e T B 4-sicka TEn w 25—
=(1000—25) + 75
=975+ 75
=1050 ,
12. 10,000 %1 35 ¥ 907 7 W, BH A Il
. 9 T A PE-a-a s B
=35-25 Wl
~10 —280
200
~175
25 —3m

13. 10,000 I 45 ¥ 99 3 W, T W A E 4510000 (222
7% 10000 & T 3 10 w1 e S A M@ g 901

45 @ i fasifor gl e
glﬁ: 10000 —10=9990 St 45 & quidan fawra —_?80

| —90
;9% TS WM el SIA-H-9IE TE@ T =10 T 10 —3¥m

@ S[OTGIRATUS B4 S[OTaT

1. () 4=1,2,4 (i) 12=1,2,3,4,6, 12
(i) 36=1,2,3,4,6,9,12, 18, 36
(iv) 48=1,2,3,4,6,8, 12, 16, 24, 48
(v) 64=1,2,4,8, 16,32, 64
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(vi) 144=1,2,3,4,6,8,9, 12, 16, 18, 24, 36, 48, 72, 144
(vii) 729=1,3,9, 27, 81, 243, 729
(vii) 125=1,5,25,125

2. () 2x1=2 (i) 7x1=7 (iii) 8x1=8

2x2=4 Tx2=14 8x2=16
2x3=6 7x3=21 8x3=24
2x4=8 Tx4=28 8x4 =32
2x5=10 7x5=35 8x5=40

(iv) 10x1=10 (v) 20x1=20

10x2=20 20x2=40

10x3=30 20%x3=60

10%x 4 =40 20%x4 =80

10x5=50 20x5=100
5 1 T BT AUGA (ONT) =5x1=5
5% 9 U S 9 31 % &= =l =10, 15, 20, 25, 30
12 & 2-3fe! ama @t U =12, 24, 36, 48, 60, 72, 84, 96
Ril
8, 16, 24, 32, 40, 48, 56, 64, 72, 80, 88, 96
12 3R 18 % s1vEfT oHETE =1, 2, 3, 6
oy DA AT &I =2
10. 10 T4 20 & S S A9 GEAW =11, 13, 17, 19
11. < 3T IS T TS ST WA =97
12. (i) 4,9 Tgfq ot <7 T S5 To Ho | &
(i) 3,7 (iii) 4, 7

1. 2 ¥ fawfsa F@ama—(i), (iii), (v)
2. 3§ faufsm g=mi—(), (iv) 3. 4 ¥ fawfea geamd—qii)
4. 5 9 fawfsa d=amd—ii) 5. 9 ¥ fawfsa S=md—(iii), (v)
6. (i) 39a43

forom T 9Tl SRl F AT =3+a+3=6+a

TH TIM aTel 3Tl & A =4+ 9=13

SHl A W =6+a—13
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= a—-7=0
a="17
¥1d: oM Bl 3 7 2
(ii) 1359
foaom T 911 37T HT AT =g + 5+ 1
=a+6
TH T 9T bl B AT =q + 3=12
AT T 3R =12—(a + 6)
12—a-6=0
6—a=0
a=6
(iii) 1723a4
oo T arel 37l H AN =4+ 3+ 7 =14
Y TJF I 3Rl R AM =ag+ 2+ 1=a+3
Al 1 3R =14 — (a + 3)
14-a-3=11
1l-a=11
a=11-11
a=0
31 Wag BT 31 0 2
(iv) 948071
forom T 91l SRl HAM =1+ 0+a=1+a
T T dle] 37! T AN =7+ 8§+ 9=24
SHl 1 3R =24 —(1+ a)
24-1-aq=22
23-g=22
a=23-22
a=1
3q: 999 BT 3F 1 B
(v) 13al
forom o arel SRl BT AN 1+ 3=4
T T Gl 3Rl B A a + 1
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7.

Al BT SR =a + 1—4
a+1-4=0
a—-3=0
a=3
3Td: Hol Bl 3% 3 B
(1) 96=2%x48 =2x2x24 =2x2x2x12=2%x2%x2x2%x6
=2Xx2x2x2x2x3
3Td: 96 % AT TUHETE =2x 2x2x2x2x 3
(i) 150=2x75=2x3%x25=2%x3%x5x5
3T 150 % TSI [UHETE =2x 3x 5x 5
(iil) 256=2x128 =2x2x 64
=2x2x2x32
=2x2x2x2x16
=2x2x2%x2x2x8
=2x2x2x2x2x2x4
=2x2x2x2x2x2x2x2
3T 256 o ST TUHETE =2x 2x 2x 2x 2X 2% 2x 2
(iv) 288=2x%x144 =2x2x72
=2x2x2x36
=2x2x2x2x18
=2x2Xx2x2x2x9=2x2x2x2x2x3x%x3
3Ad: 288 @NWW:EX2X2X2X2X3X3
(V) 268=2x134=2x2x67
3T 268 & T UHETE =2x 2x 67
(vi) 576=2x288=2x2x 144
=2x2x2x72=2%x2x2%x2x%x36
=2x2x2x2x2x18
=2x2x2x2x2x2x9
=2x2x2x2x2x2x3x3
SAd: 576%NWW=2><2X3X3><3><7
(vii) 6300=2x3150 =2x2x1575=2%x2x3%x525
=2x2x3x3x175
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=2x2x3x3x5x%x35
=2x2x3x3x5%x5x%x7
3Td: 6300 % STAST TUHETE =2x2x3x3x5x5x 7
(viii) 7325=5%1465 =5x5x293
3Td: 7325 & AT TUHETE = 5x 5% 293
8. 4 3kl FI G TS T = 9999
4 3R H TIY B G =1000
T 9999=3x1111=3x11x101
3T 9999 % TS TOHETE =3x 11x 101
#1000 =2x 500 =2x 2x 250
=2x2x2x125
=2x2Xx2x5%x25=2x2%x2x5%x5x%x5
31 1000 o TSI [OAETE =2x 2x 2X 5% 5% 5
9. T OEEUE =2,2, 3
cO O™ =2x2%x3=12
10. 1728
1728
864
432
216
108
54
27
9
3
1

1728 =2x2x2x2x2x2x3x3%x3

|w|ua|w|ro|w|ro|w|ro|w

4.3

E

1. G) 6, 12
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2 |6 2 |12
3|3 2 |6
1 3
h
6=2x3 12=2x3x2 HoHo =2%x3=6
(i) 4, 8, 24
2 |4 2 |8 2 (24
2 |2 2 |4 2 (12
1 2 (2 216
1 3 (3
—h
4=2x2 8=2x2x2 24 =2%x2%x2x%x3
. HoTo =2x2=4
(iii) 9, 15, 24
319 3 |15 2 (24
313 515 2 (12
1 1 216
313
1
9=3x3 15=3x%x5 24 =2%x2%x2x%x3
.. HoHo =3
(iv) 6, 18, 24
2 |6 2 (18 2 (24
3 (3 319 2 (12
1 3|3 2 |6
1 3|3
1

27




6=2x%x3 18=2%x3x%x3 24 =2%x2x%x2x%x3
o HoHo =2x3=6
(v) 15,25, 35
3 |15 5 |25 5 |35
5 |5 5 |5 7 |7
1 1 1

15=3x5
25=5%5
35=7x5
. To¥o =5
(i) 112, 70, 84
84
42
21

2 112 2 |70
2 |56 5135
2 |28 T \7

2114 1

i

|\1wt\)t\>

7 1
1

112=2x2x2x2x7 70=2x5x%x7 84 =2x2x3x7
S HoHo =2x7=14

2. (i) 108,48 (ii) 216, 54
48)108(2 54)216( 4
-96 ~216
12)48( 4 0
—48 3T 216 d 54 HT HoHo =54
0

3d: 108 9 48 hl HoHo =12
(>iii) 312, 216
TfoTa-6 28



216)312(1
~216
96)216( 2
~192

24)96( 4
—96

0

3d: 312 9 216 <kl HoHo =24

(iv) 75, 40, 55

40)55(1
~40
15)40( 2
-30
10)15(1
-0
5)10(2 40 9 55 I Ho Ho =5
10 @91, 59 75 M Ho Ho =5
0 Ad: "EA 75, 4055 FIHo Ho =5
(v) 135,85, 35
85)135( 1
-85
50)85(1
-50
35)50( 1
-35
15)35(2
-30
5)15(3
15
0

29
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5)35(7

0
135 9 85 <l Ho o =5
5 9 35 <kl Ho "o =5
3d: &A1 135, 85 935 &l Ho Ho =5
(vi) 111, 123, 441

111)441(3
~333
108)111('1
102)108( 36 3)123( 41

g —123
18 3

L i

"0 0

441 F 111 &1 Ho Ho =3

3 9 123 &I Ho Ho =3

3T F&AT 111, 123 9441 1 Ho Ho =3
3. 9% 9 ¥ I WA 1435 qA1 3535 H Ho Ho B

1435)3535( 2
~2870
665)1435( 2
~1330
105) 665( 6
-630
35)105(3
=105
0 a1d: eAviie §e =35
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4. 99 220 w1 39 &N ¥ fawiaa fea S 2, 9 4 99 g=6d B
THURR, 220-4 =216, 3§ & § fawfea & s 2
T UER 328-4 =324, 39 TEA ¥ fawfea & s 2

1354 —4 =1350, 39 de&n ¥ faufsd &1 s 2

a7, 216)324( 1 108) 1350( 12
-216 -108
108)216( 2 270
-216 -216
0 54)108( 2
-108
0

3 T & =54
e : g&as ¥ JAfeaw 1354 it S 378 foran w7, S e 21 o
354 =t S8 1350 9T U

5. 98 IS ¥ 9 W& (49—1),(59-3) T (109—5) 77q 48, 56 T
104 =1 HoHo B

o, 48)56(1 @@, 8)104(13
—48 -8
8)48(6 24

a8 24
0 0

oTq: e TE =8
6. (i) 48,60 (ii) 8, 15
2 |48, 60 2 8,15

"2 (24,30 "2 (4,15

2 12,15 2 2,15

2 e 15 3 1,15

3 [35 5[, s

5 |us 1,1

1,1
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. e Ho Ho - et To o

=2x2x2x2x3x5 =240 =2x2x2x3x5=120
(iii) 60, 75 (iv) 56, 70, 84
5 160, 75 2 |56, 70, 84
3 12,15 2 |28,35,42
2 | 4,5 7 |14, 35,21
2 12 5 2 12, 5 3
511, 5 3 (1, 5 3
I, 1 5 11,5, 1
L 1, 1
-, 31T So Ho - A To Ho
=5x3x2x2x5=300 =2x2x2x3x5%x7=840
(v) 100,98, 77 (vi) 120, 180, 240
2 177,98, 100 2 (120, 180, 240
7 |77,49, 50 2 | 60, 90,120
11 (11, 7, 50 2 | 30, 45, 60
711, 7, 50 2 | 15, 45, 30
2 (1, 1, 50 3 | 15, 45, 15
511, 1, 25 3 5, 15, 5
511, 1, 5 5 5, 5 5
I, 1, 1 L, 1, 1
<. U o Ho S 3R Wo Ho
=2xTx11x7Tx2x5x%x5 =2x2%x2%x2x3%x3x%x5
=53900 =720
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7. =R Sl i TED TS &A1, TS 16, 20,24, 28 I 35 % o To H
Tuican faefer grth
310 TEY TES B9 16, 20, 24, 28 T 35 F To Ho T HI B

2 |16, 20, 24, 28, 35
2 | 8,10,12, 14,35
2 | 4, 5 6, 7,35
2 |2 5 3, 7,35
L ToHo =2x2x2x3x5x%x7

3 01,5 3, 7,35 —1680
5 11,5 1, 7,35 4 3Tl Sl TEH TS T = 9999
7111177 e, 1680)9999( 5

1’ 1, 1’ 1’ 1 ﬂ

1599

a7 A T = 9999—1599 = 8400
8. o e BH 4, 6,8, 12 F 15 F oo Fo I F Bl

204,6,8,12, 15
212,3,4, 6,15
2 1,3,2, 39 15 e i
P— e, 4 371 i FoH T TEAT = 9999
3[L3, 1, 3,15 a1d: 120)9999( 83
511,1,1, 1, § —960
L1, 11 399
_ =360
o Ho =2x2%x2%x3x%x5 39
=120 2 120 ¥ faufSa M arett 4 37

TR T T&T= 999939 = 9960
B 2@ § o (4-3)=(6-5)=(8-7)=(12-11)=(15-14)=1
37 4-37eh! 1 S WA 9960 W 1 FHH B
oTa: A W& = 9960—1=9959
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9. Had TEA TH 20, 25, 30 qUT 40 HT o Fo T HA Bl
2 [20, 25, 30, 40

2 10,25, 15,20

5 5,25,15,10

oo =2x2x5x5x3x2 =600
a1a: i B W BRI & = 600
10. 9% DRI | D) T < g8 WEmsll & Ao o ¥ 3 HH B

2|36, 45, 50

2|18, 45,25

3| 9,45,25

3| 3,15,25

511, 5,25

SdoHo =2x2x3x3x5%x5 =900
37T B ¥ B G=&A =900-3 =897

11. 92 DRI ¥ S & < g Tems & dAoHo ¥ 7 Aferk g
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20, 28, 35, 105
10, 14, 35, 105
5, 7,35,105
1, 7, 7, 21
1, 1, 1, 3
L1, 1 1

W [ | WD [

TloHo =2x2x5x7x3 =420
;31 BIE U B Y& =420+ 7 =427

12. (i) 14,21
TS 1 OEHA =14 x 21 =294
14=2x7
21=3x7
HoHo =7

oo =2x3x7=42
3d, ToHo x HoHo =42x 7=294
3TA: ToHo x HoHo = WA FI TUHHA

(ii) 25,65
T 1 [OERA =25% 65=1625
25=5x%5
65=5x13
HoHo =5

ToHo=5x5x13=325
3Ad, ToHo x Ho Ho =325x 5=1625
3TA: AoHo x HoHo = TEA Tl UG
(iii)-(v) : SR Ht Aifd @I |
13. T&l HoTo =23, AoTo =1449
el T =161
© HUH HEI x TERI HEAN = HoHo x ToHo
161x THU HE&A =23 x 1449
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14. -

15.

8 d@Em :%:23@:207

Fd: eI e =207
ToH HEA x gH & = HoHo x ToHo
64 = Ho¥o x 16
HoHo :ﬁ:4
16
;A Ho¥o =4
TEMsTl Fl UEHA = HoHo x TAoHo
6400 = 16x ToHo

“oHo :@ =400
16

A 34 oo =400

1.

3Tgldrd, HAATgIaTd 3112 efepas fafer

yyTaEt 5.1

(i) 3ffs ST =90 e : IOW:?:?:%I
(ii) @19 U = Wo : Ho :7x:x:B=%=7:1
X

(iii) FeTl 6 T oA o=d =45

TESH I T&AT =30
e m:45:30=%:%:3:2

(iv) =Hferd sl 3 =T 9000

TfoTa-6

=fed &1 T =T 7500

e o1 =3 9000 : T 7500 =20 _6 _¢

7500 5
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2.

3.

(i) 25 |E ;2.5 9 =

(i) SO0 T/ : T 75 =— >~ _

(iii) T 22.50 : T 37.50 = _e
(iv) 45 THTS

(M) ; ;

_25x10 10

259
2.5 Tt

—=10:1
25 1

50 %8 i:1:150

75%100T9 150

5

: 1 e =

32250 225 2

é =3:5
3750 375 15 5
4SEHTS _45_3 _
60TFIET 60 4
3

AT 4 9 7 Bl o Ho =28
T & TR I W,

5 5x4 20

7 Tx4 28

520 = 21

5

(ii) s:gzga@nn;

i,;ng_3><7_21

4 4x7 28

2—2319:&3:4»:7

15

3 8 I 15 bl TloHo =120
T & M s H W,

5_5x15_ 75

8 8x15 120

- 88>75=> —
120

(i) 15:16

88

15

o 11_11x8 _ 88

15 15x8 120

%ﬂﬂﬁll:15>:5:8

24

— d91 24 : 25 =—
16 25

A 16 9 25 =l ToHo =400
T I THE I1H W),

15 _
16

15x25 375
16x25 400

o 24 _24x16_384
25 25x16 400
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384>375:>3—M>ﬁ8?2ﬁﬁz4:25>15:16
400~ 400
4. () 12:20=x:5 iy 12 =36
x 47
12_x_, _5x12 L1247

=2x47

5
=3 sox=94
2:x (iv) 14:16=x : 8
2 14 _x
X 16 8
6x2 8x 14
X =
4 16

x=3 x=7
5. FA T =240

forg den o1 & S U =7: 8
ST AT =7+ 8=15

e = ‘341"'[:1—75><24O:7><16

=3 112

AN 8T WM =3 240 -3 112
=3 128
6. TS T WA 3 = T 8000
TS & @9 =T 6500

TS &t F9d = T 8000 — T 6500
=% 1500
(1) A UM = 3™ : =
8000 16

=% 8000 : ¥ 6500 =—— =
6500 13

=16:13

TfoTa-6 38



(ii) FAE I = T : =

—% 8000 : % 1500 = 200 _16
1500 3
=16:3
(iif) A U = =FF: =
=% 6500: T 1500 =20 _13
1500 3
=13:3
7. WEfHRA § T H R
T =20 feeio

w@ﬁmmﬁﬁww:l%w@:%w@

wﬁﬁfaﬁm:izzoxzzﬂﬁﬁﬁ/w
TE 3 3

39, FR § T & T T4 =120 fFwfto
U O A T HE H T qHI =2 T0S
T 120

FR H A = —— =" =60 fHH/=v
g 2

rEfhd @t
s s =

_2
60 3x60 9
8. 20 Ha 1 foshd goa =% 100

1 5 1 Tk 9o = ?12000 %5

1 TS el 1 fasha gea = T 100
12 el o foshd qed = 100

1 et w1 fasha god = ?100

=2:9

:?—
3
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gyt 5.2

1. (1) 1,2,12,24@?@%13%@&,1:2::12:24
3131,1:2:1+2:—1FI?H 12:24:12+24:E:1
2 24 2

aa: 1,2, 12, 24 GO § 2

(i) 21,25, 42, 48 THUE ¥ S AfE, 21 : 25 :: 42 : 48
S, 21125 =21+25= 20 A 42 1 48 = 4248 =2 =
25 48 8

%j[%%;t%m: 21, 25, 42, 48 THETE ¥ T B

(i) 21, 56, 24, 9 THE ¥ S Afg, 21 : 56 2 24 : 9
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